

WESTSIDE OF STREET

1	5	5	25.0
2	5	5	25.0
3	5	5	25.0
4	5	5	25.0
5	5	5	25.0
6	5	5	25.0
7	5	11	55.0
8	5	5	25.0
9	5	5	25.0

SIDEWALK
SIDEWALK
SIDEWALK
SIDEWALK
SIDEWALK
SIDEWALK
SIDEWALK
SIDEWALK
SIDEWALK

TOTAL	255.0	0.0	0.0	0.0
-------	-------	-----	-----	-----

EAST PALOMAR STREET BETWEEN HERITAGE ROAD AND LA MEDIA ROAD

BETWEEN HERITAGE ROAD AND MONARCHE DRIVE

NO.	LENGTH LF	WIDTH LF	S/W SF	COLORED S/W SF	D/W SF	SEAL GAP LF												REMARKS
SOUTHSIDE OF STREET																		
1	6	7	42.0															SIDEWALK
2	10	5	50.0															SIDEWALK
NORTHSIDE OF STREET																		
1	10	6	60.0															SIDEWALK
2	5	6	30.0															SIDEWALK
3	10	6	60.0															SIDEWALK
4	6	5	30.0															SIDEWALK
TOTAL																		
			272.0	0.0	0.0	0.0												

BETWEEN MONARCHE DRIVE (WEST) AND MONARCHE DRIVE (EAST)

NO.	LENGTH LF	WIDTH LF	S/W SF	COLORED S/W SF	D/W SF	SEAL GAP LF												REMARKS
SOUTHSIDE OF STREET																		
1	5	8			40													DRIVEWAY OF PARK
2	15	5			75													DRIVEWAY OF PARK
3	15	10			150													DRIVEWAY OF PARK
4	6	14	84.0															SIDEWALK
5	9	6	54.0															SIDEWALK
NORTHSIDE OF STREET																		
1	4	11	44.0															SIDEWALK
2	4	10	40.0															SIDEWALK
3	4	19	76.0															SIDEWALK
4	4	16	64.0															SIDEWALK
5	4	5	20.0															SIDEWALK
6	4	11	44.0															SIDEWALK
7	4	10	40.0															SIDEWALK
8	4	30	120.0															SIDEWALK
9	4	30	120.0															SIDEWALK
TOTAL																		
			922.0	0.0	265.0	0.0												

BETWEEN MONARCHE DRIVE (WEST) TO MONARCHE DRIVE (EAST), FRONTING PARK

NO.	LENGTH LF	WIDTH LF	S/W SF	COLORED S/W SF	D/W SF	SEAL GAP LF												REMARKS
NORTHSIDE OF STREET																		
1	6	15	90.0															SIDEWALK
2	10	6	60.0															SIDEWALK
3	15	6	90.0															SIDEWALK
4	6	10	60.0															SIDEWALK, PROPERTY MONUMENT
TOTAL																		
			300.0	0.0	0.0	0.0												

BETWEEN SANTA DEI PINA AVENUE AND SANTA FLORA ROAD

NO.	LENGTH LF	WIDTH LF	S/W SF	COLORED S/W SF	D/W SF	SEAL GAP LF												REMARKS
SOUTHSIDE OF STREET																		
1	5	10	50.0															SIDEWALK
TOTAL			50.0	0.0	0.0	0.0												
BETWEEN SANTA FLORA ROAD AND SANTA ANDREA STREET																		
SOUTHSIDE OF STREET																		
1	7	10		70														COLORED PCC WITH BIKE LEGEND
2	5	10	50.0															SIDEWALK
3	10	10		100														COLORED PCC WITH BIKE STRIPING
4	10	10		100														COLORED PCC WITH BIKE STRIPING
5	13	4	52.0															PROPERTY MONUMENT
6	10	10		100														COLORED PCC WITH BIKE STRIPING
7	10	10	0.0	100														COLORED PCC WITH BIKE STRIPING
SEAL 1-1/2" GAPS BETWEEN COLORED PCC AND SIDEWALK BETWEEN SANTA ALICIA AVENUE AND SANTA ANDREA STREET FRONTING CAMDEN HOUSING																		
1						38												
2						130												
3						20												
TOTAL			102.0	470.0	0.0	188.0												
BETWEEN SANTA ANDREA STREET AND SANTA RITA STREET																		
SOUTHSIDE OF STREET																		
1	10	5	50.0															SIDEWALK
2	10	10		100														COLORED PCC WITH BIKE STRIPING
3	6	10		60														COLORED PCC WITH BIKE STRIPING
4	6	10		60														COLORED PCC WITH BIKE STRIPING
5	11	5	55.0															SIDEWALK
6	6	6	36.0	0														SIDEWALK. RESET SIGN POST
TOTAL			144.0	220.0	0.0	0.0												
BETWEEN SANTA ALICIA AVENUE TO SANTA RITA STREET																		
SOUTHSIDE OF STREET																		
7	8	12				96												DRIVEWAY AT VILLAGE MARKET
TOTAL			0	0	96	0												
MONARCHE DRIVE (EAST) TO ACROSS FROM SANTA ALICIA AVENUE																		
NORTHSIDE OF STREET																		
1	6	5	30.0															SIDEWALK
2	6	20	120.0															SIDEWALK
3	6	20	120.0															SIDEWALK
4	6	15	90.0															SIDEWALK
TOTAL			360.0	0.0	0.0	0.0												
ACROSS FROM SANTA ALICIA AVENUE TO ACROSS FROM SANTA FLORA ROAD																		

NO.	LENGTH LF	WIDTH LF	S/W SF	COLORED S/W SF	D/W SF	SEAL GAP LF											REMARKS
NORTHSIDE OF STREET																	
1	6	30	180.0														SIDEWALK
2	6	20	120.0														SIDEWALK
TOTAL			300.0	0.0	0.0	0.0											
ACROSS FROM SANTA FLORA ROAD TO SANTA DELPHINA AVENUE																	
NO.	LENGTH LF	WIDTH LF	S/W SF	COLORED S/W SF	D/W SF	SEAL GAP LF											REMARKS
NORTHSIDE OF STREET																	
1	6	10	60.0														SIDEWALK
2	6	10	60.0														SIDEWALK
3	6	10	60.0														SIDEWALK
TOTAL			180.0	0.0	0.0	0.0											
GRAND TOTAL			2,882.0	690.0	361.0	188.0											

PEDESTRIAN RAMP REMOVAL AND REPLACEMENT																	
EAST PALOMAR STREET AND HERITAGE ROAD																	
			CVCS 25 EA														REMARKS
			2														NWC
			2														SWC
			2														NEC
			2														SEC. TWO SURVEY MONUMENTS
TOTAL			8														
EAST PALOMAR STREET AND MONARCHE DRIVE/SANTA RITA STREET																	
			CVCS 25 EA														REMARKS
			1														SWC
			1														SEC
			1														NEC
			1														NWC
TOTAL			4														
EAST PALOMAR STREET AND MONARCHE DRIVE/SANTA ANDREA STREET																	
			CVCS 25 EA														REMARKS
			1														NORTH SIDE CROSSWALK
			1														NWC
			1														SWC
TOTAL			3														
HERITAGE ROAD AND TELEGRAPH CANYON ROAD																	
			CVCS 25 EA														REMARKS
			1														SEC. GUTTER IS TOO STEEP
			1														SWC
TOTAL			2														
MONARCHE DRIVE BETWEEN EAST PALOMAR (WEST) AND EAST PALOMAR (EAST)																	

	CVCS 25 EA															REMARKS
	1															SWC AT SANTA LUCIA
	1															SEC AT SANTA LUCIA
	1															NEC AT SANTA LUCIA
	1															NWC AT SANTA LUCIA
	1															NEC AT SCHOOL LOT EXIT
	1															NWC AT SCHOOL LOT EXIT
	1															SEC AT SANTA YNEZ
	1															SWC AT SANTA YNEZ
	1															NWC AT SANTA YNEZ
	1															NEC AT SANTA YNEZ
	1															NORTH PATHWAY N/O HERITAGE PARK
	1															SOUTH PATHWAY N/O HERITAGE PARK
	TOTAL	12														
	GRAND TOTAL	29														